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SECTION - A
Note : Answer any four of the following : (10x4=40)

1. Explain computer organization with the help of a diagram.

MEBODOTT 2.8 IO Teado WTT IRLT AEOR.

2. Explain the application of IT in science and technology.
RF T2 FoZR TFY Bnked F0geR FTT TBTHI WROR.

3. What are secondary storage devices ? Explain the features of different secondary
storage devices.

YOTR), 8 ROMTBNTOTITERD P DT YUTF, 8 BOMTENY ©FEANTR, SIOR.

4. Explain the features of UNIX and WINDOWS operating system.
OB B QOTRERF FOXF VEToF TBNE 7§ LT

5. What is e-mail ? Explain the functions of ISP. Write the important steps in
setting up e-mail.
DRRT ROTEB DOTTERD 7 0BT PO Feem WP TWOPF TRTODT, V0% TS
RT3 803003080 ATRYRLD WRIBORIT DOBNIS), S9R.

6. What is DOS ? What are DOS commands ? Describe the commands used for
managing files.

TOR® DOV ? ToR® STIEBNTOTTERD ? FWENY [ :WHOTT), AT AT STEBINTTI 08,

P.T.O.



SECTION - B
Note : Answer any four of the following : (5x4=20)

7. Bring out the difference between Digital computer and Analog computer.

B B0, UT° T SRR BomR,UT° VTORT SRF VR FTARER) FRTR,

8. What is DBMS ? Explain the salient features of DBMS.
8.2.20. 0% . 0T 7 LT 02, CTLANTR), IO,

9. Write any 5 internal commands of DOS.

Q0. @:szi 03RT)TTITTR T 30303 @Zﬁ@éﬁ%ﬁ?\fi TOW0.

10. Write a note on computer viruses.

r{saéwoogd %d&“’ wrﬁ\ @%dwsé 2)3B000.

11. What are the differences between Star and Ring networks ?

SO0 LR VTHE ToMR YVOTOT RO TNENTII FBYRNE CIY) ?
12. Internet is a powerful mass medium. Discuss.
BOBT® 2PV LoD TOFRRITO Torie FEOIVTNT BRRT BRGTO W3WF R
SECTION - C
Note : Answer any five of the following : (3x5=15)

13. What is ROM ? Mention the various types of ROM.
038 7,8 (BrRemT”) omdesd ? T G [LIPNT) S9R.

14. What is the contribution of Charles Babbage in the development of modern
computer ?

SEORE Neagod0g T LRI e s e eiens™s Frr w0 2

15. What is Browser ? Explain its usage.
WRRT” 0TTERD ? LT YUTORFTIONR), DOR.



16.

17.

18.

19.

20.

Explain the features of non-impact printers.

O QOTT mgémf @isaﬁ%ﬁdaq Q0.

Explain any three input devices.

CTRYTRTTR 30 L0 BT DO

Why do we call COBOL as a High Level Language ?
inisaniod mo—iojasgt emaié BT IO 0T OF FTOTZ S ?
What is Linker ? How is it different from Loader ?

DOBT" OTTERD ? 930 SREBT NOB C3Tes D80S, wgmﬁd ?

Bring out the difference between high level and low level language.

oRE e T3 39 Dou epaEodd Wi FTRAR) WKW,




